Qu 1l

Thursday, March 24, 2016 3:56 PM
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Qu 2

Friday, April 15, 2016 5:28 PM
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Qu2 continued

Tuesday, April 19, 2016 6:03 PM

Second, We Conslden fﬁfﬁch —= (" whexe
Y=Rer o Ry o Ry
Claim: Let o be dccontmons . Thew I
M —> N Rep bk TN £ Loy,
12\3 this elaim, wO Yequued  exauwple fov X:?Cf

Sthee T s nt crbivmouns, =1 \/630_§ «qu wle
(v etl;‘ ) e, RNTOND G tnfidte
Pick o distinX sequene Pa € R\{‘(\/),
Sso LG E V.
On the other hand, 'V»‘(\D 63@( '."—Y"(V\-‘Fyﬂ
3 ‘re—(‘(\D, te. e\
Defw\( O <equemor Yn PC—Q ‘“‘3
Yon=Pn avk  Kone( =¥
(‘Xn}::. S an Cw—\:vft'ti Cequente , Mn—>Y ™ RC_(
Mowever,  A0n)EN while  £0Gmed) =€ &\
WW \I€j(~,s: ij\A""glL
Thas | £ oo 0 in R, Bt By

) va’%@«sccﬁv«a (c‘k/‘)>’( EQ,43 witlh  the
o\\caa/m,\,\y\ ikxm} :'\((—\R"I , W cyt
T ) —Euv W(}(»BW:IL’(DPO[O‘J\Q.

Test 2 Page 3



Qu3

Tuesday, April 19, 2016 6:37 PM
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Qu3 continued

Wednesday, April 20, 2016 4:11 PM
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Qu4é

@ f: (Bloak),do) — (R, 5d)
s M‘L{wm\n CoBinu g .
Tea’ opply O inequality o
| {cxo-&(xg\ far X, ¥ e Blak]
- ldoo("\ o) — doo(xz,o\\

)  Use Completeness  of R to Tet
PO wtwise Convenqenct —EY&T :

@ A B o &S XNA g clged
& XA =X\A
GRA) =AY ¢ XA

(A) oo 6‘& )‘A4 Co:ﬁem.

Tha win nowhent demse  cek s ?S
§w~cjl€tm & X beconee &—?7«)0 = In} =3nk

Test 2 Page 6



